Homework #3
**1-9 calculate the probability or area 
1) Between a z-score of .25 and the mean
2)  Between a z-score of 1.25 and the mean

3) At or above a z-score of 1.25
4) At or below a z-score of 1.25
5) At or below a z-score of -1.50
6) At or above a z-score of -1.75
7) Between the z-scores of -1.50 and .50

8) Between the z-scores of 1.00 and .25
9) Between the z-scores of 1.25 and .50
10)

We release 10 balloons.  There is a 70% chance they will reach New York.  
Joshua Ross releases 12.  What is the probability that exactly 9 balloons will 
reach New York?
When people were shown pictures of Michael Jackson, 95% of them 
  recognized him.  Find the probability that among 12 randomly selected 
  people, exactly 10 will recognize Michael Jackson.

12)

Jorina just learned to play basketball.  On average she can land 25% of her free throws.  Assume she shoots 10 free throws.  Find the probability that she can land at least 1 of the 10 free throws.

1. A simple random sample of 50 adults Is obtained and each person’s red blood cell count is measured (in microliters).  The sample mean is 4.63.  The population standard deviation for red blood cell counts is .54.  Construct a 99% confidence interval estimate of the mean red blood cell count of adults.

2.  What percentage of a normal distribution is within 2 standard deviations of the mean?  (Select the closest answer.) 

a. 50%

b. 95%

c. 75%

d. 100%

3. The area under the standard normal distribution between -1.5 and 1.5 is

a. 0.1338

b. 0.1668

c. 0.4332

d. None of the above

4.  A real estate agent records the ages of 50 randomly selected home buyers in her sales area.  The mean age is 38 years, with a sample standard deviation of 10 years.

a. Find a 99% confidence interval for the population mean age.

5. A simple random sample of 125 SAT scores has a mean of 1522.  Assume that SAT scores have a standard deviation of 333.  Construct a 95% confidence interval estimate of the mean SAT score.

1. Shown in the following table are the reported annual deaths of males aged 75 or over from 1 of the 5 leading types of cancer:

	Site of Cancer
	Number of Deaths

	Lung

Prostate

Colon or Rectum

Stomach

Pancreas
	12,129
10,036
8,115
3,135
3,000
36,415


For a randomly selected deceased male cancer victim, what is the probability that

a) he died of lung or prostate?

b) He died of cancer of either the stomach or the pancreas?

c) He did not die of lung cancer?

2. Out of every 100 cars that start in the Maryland Grand Prix race, only 15 finish.  Two cars are entered by the UMUC team in this year’s race.

a) What is the probability that both will finish?

b) What is the probability that neither of UMUC’s 2 cars will finish the grand prix?

3. A review of the records at Lander Community College revealed the following ethnic breakdown of the student population:

Caucasian

1150

Black


  520

Hispanic

  255

Asian


    80

Native American
    60

Other


    20

a) What is the probability that a randomly selected student is either

 Caucasian or Black?

b) What is the probability that the selected student is not a member of either

 of the two largest categories?

4.  

	
	Democrat
	Republican
	Independent

	Maryland
	10
	15
	65

	North Carolina
	35
	25
	75

	Los Angeles
	60
	20
	70


A group of voters from 3 states were selected and the results are above.

What is the probability of selecting a random voter from North Carolina, given that the voter was a republican?

a).357

b).417
c).267

d).200

5.

	
	Democrat
	Republican
	Independent

	Maryland
	10
	15
	65

	North Carolina
	35
	25
	75

	Los Angeles
	60
	20
	70


A group of voters from 3 states were selected and the results are above.

What is the probability of selecting a random voter that is from Los Angeles or a Democrat?

a).093

b).520

c).613

d).357

6.  
In 20 pulls of the cards, 20 cards were red.  What is the probability that on the 21st pull the card will be red?



a).5000


b).2500



c).000000477



d).03125
